Year 11 Extension 1 Assessment Task 1,2012

Section One Multiple Choice.

Question One. ' 1

» ’ 7:96) | '
2 0 1 2 7 3 5 .’(/8 _——2?44)2 expressed in scientific notation correct to 3 significant figures is:
PRELIMINARY

. o A 113 , B 113
 Casimir Catholic College -ASSTiSSSKMFNT b > ]‘1133251002

Question Two. 1
L
Express 8 ? in simplest form, with a positive integer index.

- |Mathematics| » - .
; Extension"] o C qutonTime | - 1

2
N i Expand and simplify: (1 +l) -
. X
v . .
: . Section One A. 1+ _1-2— . B. 1+3+L2
; T ] . Iti ; X x
- General Instructions et | . >
e : c 2=+ . D, l+=+x
¢ Working Time - 50 minutes : Sx X x
¢ Wiite using b_luevor black pen . Section Two 4
e angd-gpprbved calculators may | Total marks (44) . Question Four : {
" be use C : 1 aee : : v :
. Start each question on.a new . - Answer questions 5-8 .
cpage. oo : ‘ . - L
« Al necessary working should be ’ ‘ The solution(s) to [3x-1 = x -5 is
shown in every question ) .
o All diagrams are nottoscale s . . - .
unless otherwise stated : NAME: A, 2amd2 . B, 2oy
B . 1 . AN
} . ) . ~C., + -2and 15 - D. There are no solutions
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Section Two Extended Response Questions.

Question Five. (Start a new booklet) 11 marks

(a) Convert 1034 to a:

@ percentage. 1

(i)  fraction. 1~

B

32 ) L2\ 2
(b)  Find the value of AC where A = (3—) , B= (E) and C = %; expressing

B 8
your answer in simplest index form. l : 2
() Write 1:034 as a fraction in its lowest form. - 2
(@  Simplify 254 +4/150. 2
< N . 2
(® o Rationalise the denominator of ’\/— T 1
2
(ii)  Hence find values @ and b if \/_ =a+ b’\/i . 2

W21
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Question Six. (Start a new booklet)

(2) Expand and simplify:
1)) 5+3(2y-5)-(y-6).

G  (x-x)(x +x).

2 - .
@ (2=
gL
(b)  Factorise fully:
(i  15x%y -3xy+21nt
(i) 3x*-16x+5.
@)  27m +8n’.

3 2
y -4y +5y-14"

(c) Simplify:
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Question Seven. (Start a new booklet) 11 marks Question Light. (Start a new boo‘klet) 11 marks

(a) Tind the values of the pronumerals, giving complete reasons:
(a)  Solve: -2x =4(3-2x). 1

® 2

(b)  Solve: %>x+4. - 2 /

(&  Solve: 2x-+5]=[3x+9]. 3 , /

A A A
3 .
(@  Solve: —y— <=2, 2
0-9 . 06
<% (¢) Solve: x+3 <2. 3
x-1
(ii) E 3
. \(x +y)
‘ A P B
: F
/
C@x-y) b
Ll C Yo,
G\ 56
H
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(b) ABCD is a parallelogram with CD produced to E, as shown in the diagram.
Prove that AABF ||| ACEB. 2

P b
L n o c

(c) In the diagram below, ABCD is a square and CB is produced to E such that

-Lxe.
2

If CD = a, show that the length of @ is given by 212/_5_ units. 2-

‘() exteriorangle. ‘ 1
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Qn ' ‘ Solution Marks -~ .. sSolution n
S. [(a) 1.03Y : G @0 5+3(2u ~53-(y-6)= 5+6u 15—u+6
(i) 102-Y4 - ' l :*H%u R
(i 5171 = Usao : = Sy-—%~ |
500 ' O (A =2 )+ >x—\§c" |
| _ G (12 WY = (EY =24 w?a v 1
(LY X - (BY)(Z \ | |
2° @) | ‘ (D) (1) 15 y-220ys 21X y= 3 y (BA=147y ) \
incalC: =3072" " _ l . (i) 2o r 5= (3%~ \57@31—\ > ™ 3
inindex: = [2a", 3.3 :
Ly o* 2" - | | - = (x = 63&%7&\3 2
=3 347, 2" ‘ A 2TmMP+ D = (B3m+20)(dm>— bmntitt) 2
2% o> |7 qv i (
= 3" 2% : = () 3 -2
¥ . a” . . 3 y=Yy yr+sy-14
2))(2\@ | o —J 3  \J_— Ny |
' - (y=2304r2) (u'ﬂ 2(y=2> }
(c) 103% =7 = “2(yr1) —2(gr2d) 2
lox =10:3% (\y ’ﬂ(wrz)(wr'ﬂ
1000 = 1034 -2Y4 ‘ . = Bur21¥2y-
490 2= 1024 i (y=22(ut2°) Y1)
a1 =512 2 S = u+\'7 > 3
Lot - bl (22 (Ut '
e vl J ™~ Y
(d) 2Vt + V150 = 6V6 + 5V6
. = V6
() (N 2,30+ - oo
32-1 " 20+ 1
(D 6+ - a+b¥
7
L 0=PN7 _and b=V




(o) —2x=41(3-2x

-2 =\2 =%

(d) 3.,-2 : O
y >
v, =2yt
J . [

Vay L -2 i ,
2TUZF Y <0 parabola bLlow oxis
uloy+2)=0 \ !

.’,‘ju':‘jO =32 / m @ ~

J 7 N "'i\ r/’a

Z

L, =22 Ly L0

() 12x+51=12x+al

o5 1 Cbothn 'pogiftvé,): 1S

ey _Xr3 ¢2 £ |
7 - ‘

e
DA+ 5=2X+9 . |25

Y=o | |-3]

CESICEN I EDE

o s | 2

N £ 2 ()" —(x+2(X) D)

O < (1= (202 = (X +3))

Techse 2_(\ek positive, 2nd negative) *

0 < (x=1(x=5>

2% 5= -3 -9

r\lua e

A parabo\a above oxis’

5y = —\H

1 =-275

x =145 ;
\ / x <1 and
0 . _ng x5
o . .5

—coce 3 (st negotive And positive):

{ =05 =5=3249
=4 =5

'1_': '—ZH/")

case U (hoth mgahv@:
— ) x-5=-23%-9

~_==4

/

S Colbons are A= 275




Solution

Cd (D) S,=190(/-2)

Sie = \D0 (15-2)

() (D). 0:4 - |- (ratio ok intercepts)| 1+
0-o xX '
0aAx =078
L= 087 (Q—dD> 2

= 2340’

Ench inteslor = 2340° < (5

(1Y LBFG=56" (correspono\ma angley N

= 156"

Dara\\&\ [inesre mum)

L) gxtextof angle sum =360°

(ouu\Jer = B’ (angles in o Stratght

Each extexior

e

200°

15

LiNe-are suoomen“iﬂnﬂ

2.

ootk =1247
. J

(11 \D 56° (vevhcmq ODooer( anolzs.

are 240 DN

2=y = 56° (2)

make. u’rho suh\e(Jr of (D¢ y=12H-

Sub. u~l7_bt X into (™) : zx—%mm =56

~PPH+x =56

2 =)0

2 0°

sub x=00" into (1) : 60+

e
ool
o
=
Q

s Y=60 and 5=b%

(b) In AABRF and ACER :
: LARBFE =/ REC (altexnate andes (n

parallel ings are equal)

LBAF = [ BLE (opposite angles in a

Dara\\doaram Qe 2qual)

Eal S
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@ D
O D
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@ D

A AABE || ACER (pounomaunaﬂ

LR}

() _CcD=o (owem thus CB=0 (AMD IS a sguare) -

N AABE 5 A = (ABLD S 0 Squave)

"RE V20 (BEELBC and Rl

L EBR=00 (R produeed 10 E and LeR=%0° ad |-

ABCD s QMO0 )

HhuS  AE = BR™+RE® (MBE is (ight- anqlzd)

@—l—(l&\ "’SOL

2

o

ar+y gt

Eav_ﬂri PE= \/’5& a\IS 0s reqwfed [
= Yo +gr




